findthebox

EGOI Day 1 Tasks
Armenian (ARM)
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Find the Box

Problem Name Find the Box
Time Limit 1 seconds

Memory Limit 1 gigabyte

Uw huntGpwyunhy puunhp E:

Uwjwlu nnpnuinw2huncpjwl ninpnnh hGuinwgnwnnn £ LTHNWd: Lw ghwnh, nn hwdwjuwnpwUh
uyntnwjhu hwnpynwd qwué Yw: wuasp nhywd £Ewnynh dte, nnp guinuyned £ Jh ubbUywyned:
Swynp, Uwjwu sh ywpnn ninnwyh quw| nL ytGpgub] wyn wnpynp: Wuwnbn 2wwn Jdnip k, huy
(nyu tnwiny quwp Juwulwéwup Yhwpnigh: Uhwy Gpnp Uw wtnGulunwd £ wpynp htnwdwnp
nGYwywnynn nnpninh dhgngny guinutp:

Ubuywyp Ywnpbh £ uGpyuwywglty H x W gwihh wnnwuwyh dbgngnd, npuintn wnnnntpp
hwdwpwlwywé tu O0hg H — 1 pytpny (Yaplhg UGppl), huy uintubpp hwdwpwwwo
GU Ohg W — 1 pybipny (dwhuhg wy), hugp Lpwlwynid £, np dwhu yeplh Juwunwyp (0,0)u E,
huy wg Utppuh Jwunwyp (H —1,W —1)u E: Upynp gnudnwd £ Juwlnwyubphg uGynwd
(Juwgwé Juwunwyutpp nwunwny Gu): UJGU gh26n nnpnuinp uyunwd Ewindydtb) awhu yeGnplh
Jwunwyhg:

UJGU gh2tp, Uwjwl nnpninhb tnnwihu Ehpwhwugutph innnn, wju pwnwgwé £ 4 inGuwyh
uhdyniubphg” “<”, “>", “~" W “v". Ulwph nunnncpjntup hwdwwwwnwupiwunwd £ 2wpddwl
nunnnLpjwlp’ Gpb nnpnunp gnudnwd t (r,¢) Jwunwynwd nph hwplwlu Jwunwyutpp
wqwuw BU, “<" nbnwithnfunwd £ nbwh dwpa® (r,ec — 1), “>" wmbnwihnfunwd £ nbwyh we’
(r,c+ 1), “*" mnbGnwithnpunwd £ nGwh JepW (r — 1,¢), W “v” mmGnwithnhunwd £ nGwh ubppl’
(r+1,¢).

Mwuwnbtnp L wnpynp wyhun Gu: Gpp nnpnunnp thnpanwd £ quw| wjbwhuh wunwy, nnp nhepu £
uGUywyh uwhdwuutphg, Ywd, npnd wnpynu £ ginuynwd, www nnpnuinp dunwd £ inGnnud:
Pninp hpwhwugutGpp Ywuwnwpbintg hGuinn nnpnuinp Uwjwjhu Yhwjwnuh hp wnnGnp W htwn
Yguw dwhu yGnplh Jwunwy:

Uwjwu nignud £ wpynp guinut yupd cwdwuwyned:

dnpugnpowygnrpjnLu
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Uw huntGpwywnhy puunhn E:

e Qtip 6pwahpp wtwp £ ubuh Gpyne wdpnng phy Ywpnwind H bW W (wnynwuwyh
gwthtnp): Unynp ¢h auinlyh (0,0) nid:

e YjunthGunnl &6n 6pwahpp wtwnp £ uluh hwpgnuduGp tnw: WJGLU hwupgnud wybuinp £
uyuyh “2?” uhddniny, nnhu wytwp £ hGuinlLh s ng nwwnwpy nnnnp, npp pwnugwé k"<,
asr iyt uhddniubnhg: Upn tnnnh Gpywipnepynlup gwybnp £ gbpwqwugh 20 000n:
Qwnpgnudp wnwintg hbGwnn Qtp 6pwghpp wbwp E Ywpnw Gpyne phy r,c (
0<r<H-1,0<c<W —1) (nnpninh dappuwlywl ynnnhuwuwnutpp): Lywuwntp, np
nnpnup wdtU hwpgnwdhg hwnn yGpwnwnuncd E (0, 0):

e Gpp wpynh Yynpnhuwwnubnp qunnuwd Gu, tnwbp “!”, nnhu htinlnwd U Gpyne pytp
T, ¢y (Wpynh Yynpnhuwwnubpp, 0<r, < H -1, 0 < ¢, < W —1): SwhnLg hGuinn Qbp
onwaghpp wbwp £ wdwpundh (wu gnpénnnipjncup ¢h dununwd hwpgnudutGph
pwlwyh dbe Qtn Jhwdnpp hwoybhu):

Qwngnudutipp nwbinig htunn Jh dnnwgbip nwunwnytb, wpunwédwl pnidbinp, hwwnwy
nGwpnwd Q6np 6pwahpp Ywpnn £ unwluw)| Time Limit Exceeded: Python |Ggyntd print ()p
JGhuwuhynptlU nwunwpynwd £ pnudtipp: C++ (Ggunud, cout << endl;p dwpnnud E pnidtipp
unp wnnnh wugubiny; Gpt printf Gp oguwagnpénud, oguwagnpdtip fflush (stdout)
hwnpdwup.

QnGnGpp hwpdwnynn ¢E, wjuhuptu wpynh Ynpnhuwwnubpp $hpudwd Gu Q6P Gpwanh
w2huwwnwuph uygphg:

UwhdJdwUwthwyndutn W Jhwdnpubn

e 1< H,W <50:

e Upynp ¢h gunuyned (0,0)ned: Uw Lpwuwynwd £, npn H + W > 3:

e UJGU hwpgnud ybwp Epwnugwd |huh wdtUwwwnp 20 000 uhdynihg:
e nLp Ywpnn Gp oqunwgnnét] wdtUuwwwnp 2 500 hwpgnid:

Qbp épwahpp Yuunnnugyh Jh pwuh pGunh Jpw: Gt Q6Gp (nwdnudp upuwynd £ wyn
prtuntnhg nnlk JGYynwd (ophbwy upuw] wywwinwuhuwU (WA), uhuw| yuwwnwpnud pupwgpnid
(RTE), dwdwlUuwyh uwhdwlwthwydwl gEpwquugned (TLE), W wiju), www nnp Juunnwlwp
0 Jhwynn:

Eprt Qtn 6pwahpp 6h2wn £ wuwunnd pninp pGuntph hwdwp, www nnp Yunnwlwp AC,
W 26p Jhwdnpp Yhwyh hGuinlyw | pwbwalny

score = min (%, 100) points,

npntn Q phdp pninp punbpnud 2tp wunwpwd dwpuhdw| hwpgnudutph pwuwyu E:
Mwwnwupuwup nwbip npw dtig ¢h hwzynwd: Uhwdnpp Yyinpwgyh nbwh yenle:
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Uwulwynpwuwtu, 100 Jhwynp unwlwint hwdwn, Qtp épwaghpp wbwnp £ ogunwagnnéh
wdbUwwuwnp Q = 2 hwunpgnd: <Gnlyw| wnynwuwyp gnyg £ nnwthu Qh npn2 wpdtpubp W
hwdwwwuwunwupuwl Jhwynpubnp:

Q 2 3 4 5 .. 20 .. 50 .. 2500
Score 100 82 71 63 .. 32 .. 20 .. 3
[FGunwyynpdwlt gnpdhp

Qtn |Inyw| pGunwynpndp hGounwgluGint hwdwpn, 26g npwdwnpynud £ pGunnwynpduwl
agnnéhp: WU Jwpnn Gp quub] “attachments” pwdlnwd: Wu gnpéhph oguuwagnpdnudp
wwnpwunwnhp ¢E: QGp (nLbJwl pGunwydnpdwl hwdwp wju gnpdhpp ¢h oguinwgnpéybnc:

Opphuwy pGunnwynnptint hwdwnp (H =4, W =5, L wpynh Yynpnnhuwwnubnpu Gu r = 2, ¢ = 3):

python |Ggyh hwdwnp, Gpb |nwdnLp solution.pyl Eoqunwgnpdynid £ hGuinlyw | hpwdwup
python3 testing tool.py pypy3 solution.py <<<"4 5 2 3"

C++ |Gauh hwdwp, wbGwnp E uygphg yndwhpwguby (Ophuwly g++ -std=gnu++17
solution.cpp -o solution.out)htGwnnoquwagondt| hGnlww| hpwdwup

python3 testing tool.py ./solution.out <<<"4 5 2 3"

Ophlwy

UGLjwyh swithbpu 6U H =4 W W =5, huy wnpynp gnudnud £ (r,¢) = (2,3) Jwunwynd:
ZGinljwy| Uywpp gnyg £t tnwihu nnpnuinh 2wundnudp wnwehU hpwdwuhg “2  vv>>>>>>
<rnanas” hbnn, nph Jbpenwd nnpnuinp gunudnwd £ (7,¢) = (0,2) Jwlnwynwd: tpypnpn
hwngnwlhg wnwy nnpnunp Yytpwnwnuw (0,0) Juwunwy: Nphg hbunn wnipynwd £ Lu UGy
hwnpgnud™ “2 >>>>>>>>vvvvvvvvvy”, nph Jbpgnwd nnpnunp gunudnwd £ (7, ¢) = (3,4)
Juwlnwynwd: Y'pwlhg hGuinn 6pwghpp gnwyneeyntu Ewunwd W inwyynud £“1 2 3", npwlp
wnynh 6hwin Ynpnhuwwnubnlu Gu.

(24

v'eyy

findthebox (3 of 4)



grader output your output

45

? VW>SSSSS<AANNANS
02

? >>>>>>>>VVYVVVVVVVVY
34
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